PROPORTIONAL REASONING. ..
Ratio and Scale
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What do | need to be abke
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1o do? Ratio: a statement of how two numbers compare
Equdl Parts: all parts in the same proportion, or a whole shared equally
By the end of this unit you shoulbe abe to: | Proportion: g statement that links two ratios

Order: to place a number in a determined sequence

Part: a section of a whole

Equivalent: of equal vale

Factors: integers that muttiply together to get the original valve

Share. an amourt in a given ratio
Solve ratio problems given a part
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: Solutions should be modelled, explained and
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Simplfy any given ratio : |
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(‘£ 150-£200

9 —} =0

50: 10

There are 50 Blue Pens

Red pers = |x 10 = 10 pers

The ratio of a circles
crcumference to its
diameter

(...Dlam&t&c...\

C

l soled | Scale: the comparison of something drawn to its actual size
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: Representing a ratio “For every 5 bous there are 3 girk’ This represents the 5 by Double Number Line :
| This is the “whole” — boys and girks together : : - |
I A Thesthe |
| . “Whole” — I
| 5 3 bous and girs |
: o & ' '\ ' ' together :
LT_ _Ths represets the 5 b_ogs_ Thsrepresentsthe 3ol _ _ _ __ _ _ _ l“s_“ﬁ@%”ti@ a8 _ !
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: Order is Importarit : : Simpifying a ratio Cancel down the ratio to tts lowest form : : RthO bn (or | |
; , ] ‘ . This s dsking uou to carcel down urtil the part
: For every dog there ar@;’; w‘: || “Forevery 6 days of rainthere are 4 days of sun 1 NS mlgn g?cua t sdcraanpcr:%(;?s tm ilthe par’ :
o Dogs Cats (L. I
! g oG LLLL LT LT T i boestoomn 1 oy the rotio 420 n the ratoof In | |
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| . L * w2 l ain n parts of the ratio 1 The . Thesie |
| Theratiohastobewritennthe || For 6 and 4 the b || G 4:20 ros fo be |
iggest states that duided by
| same order as the information s 1 D:D I:I:D factor (nurber that |1 thspat 15 4100 —to :
| glven Il 3 | | I | I | muttiles nto them is ) || hastobe : keep n
I eg 2 would represent 2 dogs for 11 ) M e - propofton :
L L €_V€fi |£0lt_ >$ L I !— “For every 3 daus of rain there are 2 days of sun” — winen this happens twice the ratio becomes 6:4 -! LDM by 4 the n part does Y%)mv; E: pzﬁo?ﬂ@rel:g; |
IUnts are important. D T TN T
[when wsing a ratio — al parts should be in the same units <T 4— W 9 9 —
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: Sharing a whoke into a given ratio | : Finding a valbe given In (orn:l) | : Ratio as a fraction |
| James and Lucy share £3501n the ratio 3:4 : Il Wside i box are bloe and red pens in the ratio 5.1 : | Trees Flowers i& :
: Work out how much each person eanms | : I there are. 10 red pens how many ble pens are | | | g |
| Hodelhe Queton s | trece? | 37 oIrom
I James: Lucy [T || Modelthe Question Blue pens : | Flowers :
' £350 11 Ble ped T ' ‘ There are 3 purts for & ‘ |
| 3 . 4’ (I11] : | 5 | |:|:|:|:|:| : | ere are 2 parts lor rees Fraction of trees i
| A | : g
I Lucy [ ! One unit | : Number of parts of in @roup/\‘ 3 % |
| Findthe vabe of onepart £ 350 7- £50 [ |:| “orepat  Red pers - 10 pers | | ot romber of parts — |
| Whok: £350 [ - 10 pens N 0 I

7 pars 1o share betwieen i deopm [ _ ' | I I
| (3 James, 4 Ly : : Put back info the question B pers - 5x 10 - 50 pers : I ‘ Tree parts 3 + Fower parts 7 = 10 :
| Put back into the question Bie Red L

James 3% £50 = £150 :l 5 . | CITTT] === 7
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